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Instructions :

1. The Question Paper is divided in five Units. Each unit carries an internal
choice.

2. Attempt one question from each Unit. Thus attempt five questions in all.

3. All questions carry equal marks.

4, Assume suitable data wherever necessary.

5. English version should be deemed to be correct in case of any anomaly in
translation.

6. Candidate should write his/her Roll Number at the prescribed space on the

question paper.
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gae I/(Unit D)

ST H W A fRer ST ¥ 9Wemsul (17 — 31) 1 HHGed A WeR
TR TIH T SRIA HL|

Explain how subtraction operation is done in binary form. Take example
for operation (17 — 31) in equivalent binary form.
=l o IR feemm we =1 Seewl @fed fafeu) e TR Hiae & &9

e 999 ® ?

Name any two error detection codes with examples. How is it possible

to correct one error ?
31UdT1/(Or)

SeRrell TE SStwll % Y ® SqE died EHAET|

Explain the meaning of overflow and underflow with an example.
gl 9R dR fa=d & ITH! 99 I0g & MUR W IR wifSe arEadd
F 11000111.1101 =1 2’s Complement fafy ¥ Tugea Sfava o) # acfau

Define any four number systems depending on different base values.
Convert the binary number 11000111.1101 from 2’s complement form
to equivalent decimal form.

3&1E II/(Unit II)
sl oR «ifees T 1 Tdifae, Tdie U9 gHR i |

Give truth tables, symbols and equations for any four logical gates.
SOP ©wd POS ®H & T M HIWY 9 ITh TAGed Hihe 1 Ifada
e & WY I

Differentiate between SOP & POS forms and showing their equivalent

circuits using universal gates.
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Y41/ (Or)

g E-EEE UHT H IR 9hqed dihe R feEmsd |
Show the two De-Morgan’s theorems with corresponding equivalent circuits.

4 variable K-P &l S< %2 condition 9fed THsmsT den =1 g g
TR fefeam

FA B, C,D)=32x(@, 2, 5, 13, 14, 16) + don’t care X (2, 0, 15)

Explain four variable K-Map with don’t care conditions. Spot the errors
in the following equations :

F A B, C,D =X, 2, 5 13, 14, 16) + don’t care X (2, 0, 15)
g3 III/(Unit IID)

Combinational Td Sequential Tfere H IO Gied AR T HIfST|I RAM

Td ROM & & TR ¥ Ffipa hifaw)

Differentiate between Combinational and Sequential circuits with examples.
Classify RAM & ROM in the two types.

THHS TS & Tfhd T STRIA &I THABT|

Explain the circuit and operations of a decimal adder.

Y41/ (Or)

Full subtractor ®fee I fesea <fSw)

Give the design of Full Subtractor Circuit.
TR U9 SHReRR & SRIM & 9ud Hifwe |

Explain the operations of multiplexer and demultiplexer.
$&E IV/(Unit IV)
fet WH 4-bit binary decoder @t fesmea Tifsm)

Give the design of any one 4-bit binary decoder.
SR W@ MS-JK flipflop & A= R fafed qen At € ot fafew)

Differentiate the SR and MS-JK flip-flops with their limitations.
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Y41/ (Or)

fr9-wa19 &1 characteristic QEI excitation table H R TI= HifSa | 39l

w1 SR & JK types 4 W@ & fau JiNmI

What is the difference between flip-flop characteristic and excitation

tables ? Give the same for SR and JK types.

JK fRm-wam & @fbe iR sifiem &1 9ogmy da §md f fafem

Give the circuit and working for JK flip-flop, showing its limitations.
3%E V/(Unit V)

e ot w1 wEYUel Td gfhe §HERTI 'W Sw oM fewed # R

FH & fau &F sEAEA 2

Give the circuit and working of shift registers. How can we make them

shift in both directions ?

fFel AR ®RX & ITHR! fauivaie dfed gEds  HieT

List any four types of counters with their features.

g4/ (Or)

et ssaa Synchronous FRE HI HEYOMA ESEIE

Give the working of a binary synchronous counter.

T Ua T ¥ T SfevE Wt & 9 AR transfer ¥q e
Td fHEaEa w1 SHEmEu

Give the circuit and working for inter-register transfer from two source

registers to one destination register.



